[bookmark: _GoBack][image: ]
image1.png
Genetics words | need to know.... The gene for eye colour:

Two differentversions of the same genes are called * The allele for brown eyes is dominant it has the letter B
* The allele for blue eyes is recessive and has the letter b

If someone has two copies of the same allele they are
A man has the Genotype Bb

1. Whatcolour are his eyes (phenotype)?.

If someone has two copies of the same allele they are .
2. Is he homozygous or heterozygous for this allele?

Your iswhat you look like.
A lady has the genotype bb
means the combination of alleles you have. 4. Whatcolour are her eyes (phenotype)?
5. Is she homozygous or heterozygous for this allele?
Some alleles are this means that you need

two copies of the allele to have that characteristic.
Gametes (sex cells) only carry one copy of each chromosome,

therefore each gamete will only contain one type of allele.
Some alleles are this means that you only ,
need one or more copies of the allele to have that 6. Whatcould the genotypes of the man’s spermbe? ____ or.

characteristic.
7. Whatcould the genotypes of the ladies egg be? or

alleles are always written as capital letters.

If the man and the lady had a child together what is the probability it

alleles are always written a lower case letters. would have: . i
(clue use the genetic cross diagram on the back to help you!)

Word Bank *Phenotype

.Dominant Homozygous 1. It would have blue eyes?
“Allele *Recessive 2. Brown eyes?

*Genotype *Dominant

“Heterozygous 3. Be homozygous ?
*Recessive 4. Be heterozygous?





